CCGPS Geometry I - Congruence & Triangles 1.6—Review

. Name: | Date:
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Parallel Lines;
Name the angles listed and the special praperty of each pair.
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12. Given m| | n and m«8, find the measures of ali the numbered angles in the figure.
mzZ8=112°

msl= /2. me2= L& > m
me3= 64 med= 772" .
ms5= /2" msb=_ef " msl=_of
Solve for x Consesnzive I nz 5 or PrIC ALY
. . i
X #5 CXt7+ 3k t38-/50 + 35
P+ 45 =750
Z2r =133 r-r/4
Congruent Triangles:

Determine whether each pair of triangles is congruent (SSS, SAS, ASA, AAS, or HL). if not, wrile
not congruent.
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GSE Geometry

1.8 - Review #1

Unit 1 = Transformations
Date:

Name:

l. AABC—ACDE | -

Name the transformation that maps:
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2. AABC—»ADEF
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4. In the diagram, £ || m and AABC Is reflected first in line £ E c
and then in line m. This set of reflections is equivalent fo
doing what kind of singular franstormation?
Transia e 24 une s "\-’jh c A A
BB 3

Descﬂbe c:ny rotations {of 180° or less) that will map each figure onto ifself.
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Draw the image of each figure, using the given transformation.
9. Translation (x, y) 2 (x~8, y - 3) 10. Reflection across the x-axis.

11. Refiection across the line x = -2 12. Reflection across the y-axis,
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15. Translation (x, y}) 2 (x + 9,y ~ 8) 16, Rotation 90° CCW about the origin
Rotation Reflection about 1he. Ilng =X
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